FC.UNEBIXEfE L —=v s =2y F 521 (H) Y2HF7XENDE
XBIE 157 T —3000

U-10 [Fm] 159 % 1K =Y U-9 [dkm] 12 x 1K =¥
1 8:20{UNEBI - UF s Zv7 |UNE 1| 815~ XA - UNEBI UNE
2 840\ T4 =%  — L T7—IL |[/n 2 8:30|7 L7 —J - SNALF4—KA|TL
3] 9:00|UNEBI - JLT7—= |sL 3| 8:45|UNEBI - ST —XB |
4 9:20(/ 74 —% - UFzTITUT|UF 4 9:00| v XA - JL 7= |[=xA
5 9:40{UNEBI —  NILT 4 —4& |UNE 5 9:15|/snF4—&%A — ST 4—4%B |/
6] 10:00{7 L 77— - UFsIvT (sL 6] 9:30|UNEBI - 7L 7—JL |UNE
7] 10:20]UNEBI - UFs 727 [UNE 7 9:45|~% XA - NLUTA—KB|¥XA
8| 104074 —% — LT —IJ [0 8| 10:00|srF74—%A — UNEBI v
9 11:00|UNEBI - JL7—=J 7L 9] 10:15|7 L7 —JL - SNALF4—4B|/L
10| 11:20{sn74 —% - UFIIvTF|UF 10| 10:30|~ XA AV At -0 Y PAVIY
11 11:40{UNEBI AV 2 Gt VAVIY 11 10:45|{UNEBI - 7L 77—JL |UNE
12| 12:00{7 L7 —JL - UFIrIrF (uA 12| 11:00|~ XA — /NIUTA—XB XA
13| 11:15|snv74—%A — UNEBI AVIZ
14 11:30|7 L7 —Jb - SNIULT4—XB /L
15| 11:45|~ XA —  NLT 4 —KA |
U-8 (BEAAHFAED 159 x 1K =4 U-8 (BAAE) 159 X 1A =]
1 8:20{UNEBI A — =i UNE 1| 8:20|UNEBIC — ErFaU—|trFa
2 8:40|UNEBI B — 7Y zr7T |UNE 2 8:40|UNEBI D — “E®rFa2YU— [UNE
3 9:00|UNEBI A — TV vT |7 3 9:00|UNEBI C — UNEBI D UNE
4 9:20|UNEBI B — =i =i 4 9:20|UNEBI D — “+®rFa2YU— [UNE
5 9:40(=1# — TV vT |7 5 9:40|UNEBI C — +&>»Fal— |UNE
6 10:00{UNEBI A — 7)Y zrT |UNE 6 10:00|UNEBIC — =i =y
7| 10:20|UNEBI B — +t»Fa2U— |UNE 7| 10:20|UNEBID — Lz rT |7n
8] 10:40|UNEBI A — v FaU— |ErFa 8| 10:40|UNEBIC — 7)Y xzrF |UNE
9] 11:00|UNEBI B — UNEBI A UNE 9 11:00|UNEBID — =i UNE
10l 11:20(7ir>Yz>»F — UNEBI D |UNE 10| 11:20(€>Fa2Y— — = trFa
111 11:40{UNEBI A — Elif = I 11 11:40|UNEBIC — ErFal—|[trFa
12] 12:00|UNEBI B — TJL¥IvT |7 12 12:00{UNEBI D — =i UNE
U-12 [mm@] 159 x 1A =) U-11 [dtmE] 159 x 14 |
1| 12:30|UNEBI - ZL7F7—J |UNE 1| 12:30|UNEBI - L 7—J [UNE
2| 12:50|~ R #H - UFTIvTFIRRA 2| 12:50|~RXH - UFITIUTINARA
3| 13:10|UNEBI - UFsIvFUF 3| 13:10|UNEBI - UFIsIvFT|IUAF
41 13:30|~w &7 - JLT7—= 7L 41 13:30|%v R A - JLT7—= (7L
5 13:50|UNEBI - YRA UNE 5 13:50|UNEBI - XAH UNE
6| 14:10|V#sZ2>vF - JL7—IJ |[U/L 6| 14:10|VAsZ7>F7 - JJLT7—I |7L
7| 14:30|UNEBI - 7L 7—JL [UNE 7| 14:30|UNEBI - L7 —J |UNE
8| 14:50|~ X AH - UFITIUTIRAS 8| 14:50|~x X H - UFIIvT|INRA
9| 15:10|UNEBI - UFRTIUF|IUF 9| 15:10|UNEBI - UFsIvF|UF
10| 15:30(~ R A - JL7—= 7L 10| 15:30(~ & A - JLT7—= (7L
11| 15:50{UNEBI - TRAH < 2H 11| 15:50{UNEBI - YRARAH <2 A
12| 16:10(v#sZ>7 - ZL7—J)L |UF 12| 16:10(v#os2>57 - L 7—J)L |UF




